21. Wavelets systems (continued)

Tuesday, October 26, 2021

Last time: Necessary conditions on scale function for wavelet basis.

· Derivation of wavelets from scale function · Sufficient conditions for orthogonal wavelets

Derivation of wavelets

Let the "mother wavelet"
$$Y(x) = \sum_{k=0}^{d-1} b_k \phi(2x-k)$$

We want integer shifts of Y(x) to be orthogonal to each other t to scale function \$\phi(x)\$.

Lemma 11.5 (orthogonality of
$$\phi(x)$$
 + $\gamma(x-h)$)

Let
$$\phi(x) = \sum_{k=0}^{3} c_k \phi(2x-k)$$
 and $\gamma(x) = \sum_{k=0}^{3} b_k \phi(2x-k)$

If
$$\int_{-\infty}^{\infty} \Phi(x) \Phi(x-h) = \delta(x)$$
 and $\int_{-\infty}^{\infty} \Phi(x) \Upsilon(x-h) dx = 0$ $\forall k$,

then
$$\sum_{i=0}^{J-1} c_i b_{i-2k} = 0 \quad \forall k,$$

$$\int_{-\infty}^{\infty} \varphi(x) \, Y(x-k) \, dx = \int_{-\infty}^{\infty} \sum_{i=0}^{l-1} c_i \, \varphi(2x-i) \sum_{j=0}^{d-1} b_j \, \varphi(2x-2k-j) \, dx = 0$$

$$=) \sum_{i=0}^{k} \sum_{j=0}^{k} c_i b_j \int_{-\infty}^{\infty} \phi(2x-i) \phi(2x-2k-j) dx = 0$$

$$=) \frac{1}{2} \sum_{i=0}^{3} \sum_{j=0}^{3} c_i b_j \int_{-\infty}^{\infty} \Phi(y) \, \Phi(y - 2k - j + i) dy = 0 \qquad \left(y = 2x - i \right)$$

$$=) \qquad \sum_{i=0}^{J-1} \sum_{j=0}^{J-1} c_i b_j \quad \delta(2k+j-i) = 0$$

$$\Rightarrow \sum_{i=0}^{d-1} c_i b_{i-2k} = 0.$$

Lemma 11.4 let $Y(x) = \sum_{k} b_{k} \Phi(2x-k)$. If $Y(x) \neq Y(x-k)$ orthogonal for $k \neq 0$ and

and
$$\Upsilon(x)$$
 has been normalized so
$$\int_{-\infty}^{\infty} \Upsilon(x)\Upsilon(x-h) dx = S(h), \text{ then } \sum_{i=0}^{\infty} b_i b_{i-2k} = 2 S(h).$$

proof Analogous to lemma 11,2

Complete 16 Let
$$\langle \Phi(x), \Phi(x-h) \rangle = S(h)$$

$$\langle \Phi(x), \Psi(x-h) \rangle = 0 \quad \text{for all } K,$$
Then $\int_{\mathbb{R}} = (-1)^K c_{J,J-h}$ is a isofil and the set of coefficients

proof. Let's thick of b_K and c_K as disorbe function $b: \mathbb{Z} \to \mathbb{R}$ given by $c[K] = b_K$ $c: \mathbb{Z} \to \mathbb{R}$ given by $c[K] = c_K$,

$$Kecall \text{ flow disorbe convolution } (f^*g)[k] = \sum_{n=-\infty}^{\infty} f[n]_g[k-m].$$
By Lemme 18.5, $\sum_{j=0}^{\infty} c_j b_{j-2k} = 0 \quad \forall k$

$$c_j b_{j+1} + \sum_{j=0}^{k-1} c_{j+1} b_{2j+1} - 2k = 0 \quad \forall k \quad (s_j b_{j} b_{j} + b_{j-2})$$

$$C_0 = (c_1, c_3, ..., c_{J-2}) \quad B_0 = (b_1, b_3, ..., b_{J-1})$$

$$C_0 = (c_1, c_3, ..., c_{J-1}) \quad B_0 = (b_1, b_3, ..., b_{J-1})$$

$$And \quad C_0^R = (c_{J-1}, ..., c_{J-2}, c_j), \text{ and so on } (coversel).$$
Thun $(C_0 * \mathcal{B}_0^R)[k] + (C_0 * \mathcal{B}_0^R)[k] = 0 \quad \forall k$

$$B_j \text{ Lemmas } [l:2 \text{ and } l:k], \quad \sum_{j=0}^{l} c_{J-1} a_{J-2k} = 2S(k) \quad \forall k$$

$$\sum_{j=0}^{l-1} c_{J-2k} + \sum_{j=0}^{l-1} b_{2j+1} c_{J+1-2k} = 2S(k) \quad \forall k$$

$$\sum_{j=0}^{l-1} c_{J-2k} c_{J-2k} + \sum_{j=0}^{l-1} b_{2j+1} c_{J+1-2k} = 2S(k). \quad \forall k$$

$$=) \quad (C_0 * \mathcal{C}_0^R)[k] + (C_0 * \mathcal{C}_0^R)[k] = 2S(k)$$

$$(B_0 * \mathcal{B}_0^R)[k] + (B_0 * \mathcal{B}_0^R)[k] = 2S(k)$$

$$(B_0 * \mathcal{B}_0^R)[k] + (B_0 * \mathcal{B}_0^R)[k] = 2S(k)$$

$$(B_0 * \mathcal{B}_0^R)[k] + (C_0 * \mathcal{C}_0^R)[k] = 2S(k)$$

$$(B_0 * \mathcal{B}_0^R)[k] + (C_0 * \mathcal{C}_0^R)[k] = 2S(k)$$

$$(C_0 * \mathcal{B}_0^R)[k] + (C_0 * \mathcal{C}_0^R)[k] = 2S(k)$$

$$(C_0 * \mathcal{B}_0^R)[k] + (C_0 * \mathcal{C}_0^R)[k] = 2S(k)$$

$$(C_0 * \mathcal{B}_0^R)[k] + (C_0 * \mathcal{C}_0^R)[k] = 2S(k)$$

$$(C_0 * \mathcal{B}_0^R)[k] + (C_0 * \mathcal{C}_0^R)[k] = 2S(k)$$

$$(C_0 * \mathcal{B}_0^R)[k] + (C_0 * \mathcal{C}_0^R)[k] = 2S(k)$$

$$(C_0 * \mathcal{B}_0^R)[k] + (C_0 * \mathcal{B}_0^R)[k] = 2S(k)$$

Take the discrete Fourier transform

$$\left(F(C_e) \quad F(C_o)\right) \left(F(C_e^R) \quad F(B_e^R)\right) \frac{1}{|E|} = \left(\begin{array}{c} 2 & 0 \\ 0 & 2 \end{array}\right)$$
Taking determinant,
$$\left(\left[F(C_e)F(B_o) - F(B_e)F(C_o)\right] \left[F(C_e^R) F(B_o^R) - F(C_o^R) F(B_e^R)\right]\right) \left[F\right] = 4$$
White:
$$F(X^R)[\widehat{K}] = F(X)^R [\widehat{K}] \qquad \text{thre-reversal of Fourier transform}$$
Thus,
$$F(X^R)[\widehat{K}] = F(X)^R [\widehat{K}] \qquad \text{thre-reversal of Fourier transform}$$
Thus,
$$F(C_e^R) f(B_o^R) - F(C_o^R) f(B_e^R) = F(C_e) F(B_o) - \overline{F(C_o)} f(B_e).$$

$$\Rightarrow \left|F(C_e)F(B_o) - F(B_o)F(C_o)\right|^2 = 4$$
Whice,
$$F(C_e)F(B_o) - F(B_e)F(C_o) = 2. \qquad \text{thr this computation; not forced}$$

$$\Rightarrow C_e * B_o - C_o * B_e = 2 S(K).$$

$$Convolution by C_e^R \text{ yields}$$

$$C_e^R * C_e * B_o - C_e^R * C_o * B_e = 2 C_e^R * S(K)$$

$$F(C_e^R) = C_o^R * B_o \Rightarrow C_e^R * C_e * B_o + C_o^R * B_o * C_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

$$= \left(C_e^R * C_e + C_o^R * C_o\right) * B_o = 2 C_e^R * S(K)$$

Sufficiency condition for orthogonal wavelets.

Lemma 11.7 If $b_k = (-1)^k c_{d-1-k}$, then $\int_{-\infty}^{\infty} \Phi(x) \Psi(x^j x - L) dx = 0$ $\forall j, l$. proof. $\int_{-\infty}^{\infty} \Phi(x) \Psi(x-k) dx = \int_{-\infty}^{\infty} \sum_{c_i} c_i \Phi(2x-c_i) \sum_{c_i}^{d-1} b_i \Phi(2x-2k-j) dx$

proof. $\int_{-\infty}^{\infty} \Phi(x) \, \Psi(x-k) \, dx = \int_{-\infty}^{\infty} \sum_{i=0}^{\infty} c_i \, \Phi(2x-i) \sum_{j=0}^{d-1} b_j \, \Phi(2x-2k-j) \, dx$ $=\sum_{i=1}^{n-1}\sum_{j=1}^{n-1}c_{i}b_{j}\int_{-\infty}^{\infty}\phi(2x-i)\phi(2x-2k-j)dx$ $=\frac{1}{2}\sum_{i}\sum_{j}c_{i}b_{j}\int_{-\infty}^{\infty}\phi(\gamma)\phi(\gamma+i-2k-j)dx$ = $\frac{1}{2} \sum_{i=1}^{3} (-1)^{3} c_{i} c_{i+1-1} \delta(i-2k-j)$ $=\frac{1}{2}\sum_{i=0}^{d-1} (-1)^{\hat{j}} c_{2kdi} c_{d-1-\hat{j}}$ = \frac{1}{2} \left[c_{2k} c_{J-1} - c_{2k+1} c_{J-2} t \dots + \dots + c_{J-2} c_{2k+1} - c_{J-1} c_{2k} \right] = D (because & is even) Thus, $\int_{-\infty}^{\infty} \Phi(2^{\hat{j}}x-n) \Psi(2^{\hat{j}}x-k) dx = 0$ $\forall m, k$ by substitution. Note that $\phi(x)$ is a linear combination of g(x) - mThus, 50 +6x1 Y(23x-k) dx = 50 \$\frac{1}{2} \phi(23x-k) dx = 0.

Lenna 11.8 If bk = (-1) cd-1-k, then $\int_{2^{3}}^{\infty} \psi(2^{5} \times -k) \cdot \frac{1}{2^{2}} \psi(2^{2} \times -m) dx = \delta(j-e) \delta(k-m).$ proof. $\int_{-\infty}^{\infty} \Upsilon(x) \Upsilon(x-k) dx = \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} b_i b_j \delta(i-2k-j) = \sum_{i=0}^{\infty} b_i b_{i-2k}$ $= \sum_{i=1}^{d-1} (-1)^{i} c_{d-1-i} (-1)^{i-2k} = \sum_{i=1}^{d-1} c_{d-1-i} c_{d-1-i+2k}$ $= \sum_{j=0}^{d-1} c_j c_{j+1/k} = 25(k)$

 $\Rightarrow \int_{-\infty}^{\infty} \Psi(2^{\ell} \times -k) \Psi(2^{\ell} \times -m) dx = 2^{2\ell} \delta(k-n)$ Also, $\int_{-\infty}^{\infty} \Upsilon(x) \Upsilon(2^{\ell}x - k) dx = \int_{-\infty}^{\infty} \sum_{i=0}^{\infty} b_i \Phi(2x - i) \Upsilon(2^{\ell}x - k) dx$ $= \sum_{i=0}^{d-1} b_i \int_{-\infty}^{\infty} \phi(z_x - i) \Psi(z^{\ell}x - k) dx = 0$



Y(x) = \(\frac{1}{2} \) bk \(\phi(2x-k) \)

bk = (-1) K Cd-1-k



Thus, we have both necessary & sufficient contins to generate

$$\phi(x) = \sum_{k=0}^{d \cdot 1} c_k \phi(2x - k)$$

$$\sum_{k=0}^{d-1} c_i c_{i-2k} = 25(k)$$

Then, we start with a degree of freedom in the Chis, but they have to satisfy \$\frac{d}{2}\$ +1 relations.

=> We have 2-1 of left to lessyn whelet system for properties of yeteres!

Wavelet transform

If $f(x) = \sum_{k=0}^{\infty} a_{jk} \phi_{jk}(x)$, where $\varphi_{jk}(x) = \varphi(2^{j}x - k)$

 $a_{jk} = \int_{-\infty}^{\infty} f(x) \phi_{jk}(x)$ by orthogonality.

$$= \int_{-\infty}^{\infty} f(x) \sum_{m=0}^{d-1} c_m \, \phi_{j+1, 2k+m}(x) \, dx$$

$$= \sum_{m=0}^{J-1} c_m \int_{-\infty}^{\infty} f(x) \, \phi_{j+1, 2k+m}(x) \, dx$$

$$= \sum_{m=0}^{J-1} c_m \, \alpha_{j+1, 2k+m}$$

Let n = 2k + m, so m = n - 2k=) ajk = \(\sum_{n-2k} ajtl, n \)

N samples land j

This gives us a formula for moving up the tree to compute

1 2 speck though 1 dN oper-tois

1 dr ops

Total: ZdN operations = O(N) since & This gives us a formula for nowns up the tree to compute coefficients of the scale function from higher res. samples

But, of course, wing that we can compute coefficients in the wavelet basis

Total: 2dN operatory

= O(N) since &
is constant for
the variet.

Also local \$6 can be computed on Streaming passis